
AP Calculus -  Chapter 5/6 FR Review 
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Answers 	
  
1b   y = 3ex

2 /4  
1c    y – 3e = 3e(x – 2) 
2b   There is a horizontal asymptote at y = 1 

2c   y = !2
x2 +1

+1  

2d   range:  [-1, 1) 
3a 16/3 
3b         

! 

42/3 
3c          

! 

8"  

3d         

! 

2 2  
4a     ½ 
4b     4.1 

4c     f (x) = x3 + x +14  
4d 4.114 
5a        6004 people entered the park by 5 pm 
5b        The amount collected was $104,048 
5c         There were 375 people in the park at t=17.  Since 

! 

" H 17( ) = E 17( ) # L 17( ) = #380.281< 0, the 
number of people in the park was decreasing at a rate of approximately 380 people/hr at t=17 hrs. 

5d         t=15.794 hrs  by the Extreme Value Theorem 
6a 0.590 or 0.591 
6b 1.746 or 1.747 
6c 0.461 
7a 0.729 
7b 1.160 or 1.161 
7c 8.331 or 8.332 
8a  1.5 gal/min2 
8b  R’’(45)=0 since R’(t) has a maximum at t=45 
8c  3700; Yes, this approximation is less because the graph of R is increasing on the interval 
8d  

 
 
 
 
	
  
 
 
 
 
 
 
 
 
 
	
  


